��Nationalisation and Privatisation








q368	Please look at this page. Some people feel that government should nationalize many more private companies. These people would themselves in Box A.





Other people feel that government should sell off many more nationalized industries.  These people would put themselves in Box K.





And other people have views somewhere in-between, along here [A-F] or along here [K-	F].





Note: Q368-385: SS








q377	RPrNat	In the first row of boxes, please tick whichever box comes closest to your own 


			views about nationalisation and privatisation.








�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = nationalise more�
330�
140�
170�
�
2  B�
152�
55�
50�
�
3  C�
238�
77�
69�
�
4  D�
226�
59�
49�
�
5  E�
216�
75�
35�
�
6  F = (mid point)�
801�
218�
158�
�
7  G�
107�
34�
20�
�
8  H�
125�
36�
21�
�
9  I�
122�
34�
10�
�
10  J�
60�
22�
14�
�
11 K = sell off national industry�
180�
63�
47�
�
12  left of A�
15�
-�
-�
�
13  right of K�
11�
-�
1�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
62�
36�
20�
�
99 not answered/refused�
1�
3�
1�
�



�






q379	ConPrNat	Now where do you think that the political parties stand ?





	First the Conservative Party. In the next row of boxes, please tick whichever box you 	think comes closest to the views of the Conservative Party





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = nationalise more�
236�
77�
69�
�
2  B�
110�
27�
34�
�
3  C�
100�
19�
21�
�
4  D�
75�
20�
17�
�
5  E�
46�
22�
14�
�
6  F = (mid point)�
202�
76�
79�
�
7  G�
89�
37�
31�
�
8  H�
181�
41�
41�
�
9  I�
263�
81�
37�
�
10  J�
315�
92�
60�
�
11 K = sell off national industry�
924�
310�
235�
�
12  left of A�
9�
-�
-�
�
13  right of K�
19�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
76�
47�
25�
�
99 not answered/refused�
1�
3�
2�
�



q381	LabPrNat	Now in the next row, please tick whichever box you think comes closest to the 


			views of the Labour Party.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = nationalise more�
329�
135�
122�
�
2  B�
219�
72�
56�
�
3  C�
325�
88�
73�
�
4  D�
312�
93�
61�
�
5  E�
284�
85�
58�
�
6  F = (mid point)�
651�
193�
160�
�
7  G�
92�
38�
29�
�
8  H�
110�
26�
13�
�
9  I�
68�
14�
13�
�
10  J�
35�
12�
13�
�
11 K = sell off national industry�
90�
35�
31�
�
12  left of A�
18�
-�
-�
�
13  right of K�
7�
-�
1�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
105�
58�
33�
�
99  not answered/refused�
1�
3�
2�
�



�
q383	LDPrNat	And now, please tick whichever box you think comes closest to the views of 


			the Liberal Democrats	





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = nationalise more�
124�
41�
50�
�
2  B�
85�
30�
19�
�
3  C�
173�
50�
42�
�
4  D�
238�
67�
43�
�
5  E�
298�
120�
72�
�
6  F = (mid point)�
1172�
303�
272�
�
7  G�
99�
39�
25�
�
8  H�
92�
50�
17�
�
9  I�
44�
18�
10�
�
10  J�
27�
10�
5�
�
11 K = sell off national industry�
62�
22�
22�
�
12  left of A�
15�
-�
-�
�
13  right of K�
9�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
204�
99�
86�
�
99  not answered/refused�
4�
3�
2�
�



q385	SNPPrNat	Now tick whichever box you think comes closest to the views of the Scottish 


			National Party.





�PRIVATE ���
Scotland�
�
1  A = nationalise more�
96�
�
2  B�
51�
�
3  C�
71�
�
4  D�
73�
�
5  E�
71�
�
6  F = (mid point)�
270�
�
7  G�
22�
�
8  H�
18�
�
9  I�
19�
�
10  J�
11�
�
11 K = sell off national industry�
40�
�
12  left of A�
-�
�
13  right of K�
-�
�
-2 skipped - no scales filled �
30�
�
98  don’t know�
107�
�
99  not answered/refused�
3�
�



Note: SO.


�



Redistributing income








q386	Please look at this page. Some people feel that government should make much greater 	efforts to make people's incomes more equal. These people would put themselves in Box 	A.





	Other people feel that government should be much less concerned about how equal 	people's incomes are.  These people would put themselves in Box K.





	And other people have views somewhere in between, along here [A-F] or along 	here.








Note:  Q386-403 : SS








q395	RIncEq	In the first row of boxes, please tick whichever box comes closest to your own 


			views about redistributing income.








�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = a greater effort�
752�
327�
270�
�
2  B�
233�
89�
76�
�
3  C�
315�
103�
68�
�
4  D�
261�
79�
37�
�
5  E�
145�
38�
25�
�
6  F = (mid point)�
313�
79�
95�
�
7  G�
69�
15�
20�
�
8  H�
157�
38�
18�
�
9  I�
122�
34�
8�
�
10  J�
94�
17�
16�
�
11 K = less concerned�
141�
23�
22�
�
12  left of A�
17�
-�
-�
�
13  right of K�
10�
-�
1�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
17�
7�
8�
�
99  not answered/refused�
-�
3�
1�
�



�



	


q397	ConIncEq	Now where do you think that the political parties stand ?





	First the Conservative Party. In the next row of boxes, please tick whichever box you 	think comes closest to the views of the Conservative Party.








�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = a greater effort�
114�
48�
65�
�
2  B�
44�
21�
17�
�
3  C�
97�
28�
29�
�
4  D�
97�
22�
35�
�
5  E�
94�
26�
18�
�
6  F = (mid point)�
244�
81�
80�
�
7  G�
140�
43�
30�
�
8  H�
285�
77�
48�
�
9  I�
298�
97�
54�
�
10  J�
363�
116�
74�
�
11 K = less concerned�
795�
263�
195�
�
12  left of A�
5�
-�
-�
�
13  right of K�
21�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
49�
27�
19�
�
99  not answered/refused�
-�
3�
1�
�






q399	LabIncEq	Now in the next row, please tick whichever box you think comes closest to the 


			views of  the Labour Party.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = a greater effort�
575�
209�
166�
�
2  B�
380�
129�
95�
�
3  C�
516�
145�
93�
�
4  D�
380�
118�
70�
�
5  E�
227�
73�
58�
�
6  F = (mid point)�
287�
82�
103�
�
7  G�
67�
20�
17�
�
8  H�
45�
19�
4�
�
9  I�
29�
6�
6�
�
10  J�
22�
4�
11�
�
11 K = less concerned�
43�
16�
18�
�
12  left of A�
21�
-�
1�
�
13  right of K�
5�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
49�
28�
22�
�
99  not answered/refused�
-�
3�
1�
�



�



q401	LDIncEq	And now, please tick whichever box you think comes closest to the views of 


			the Liberal Democrats.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = a greater effort�
264�
84�
81�
�
2  B�
179�
49�
40�
�
3  C�
360�
129�
66�
�
4  D�
359�
109�
67�
�
5  E�
327�
95�
59�
�
6  F = (mid point)�
741�
214�
205�
�
7  G�
95�
26�
24�
�
8  H�
58�
25�
16�
�
9  I�
22�
18�
8�
�
10  J�
19�
9�
7�
�
11 K = less concerned�
44�
16�
14�
�
12  left of A�
15�
-�
-�
�
13  right of K�
10�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
150�
75�
77�
�
99  not answered/refused�
3�
3�
 1�
�



q403	SNPIncEq	Now tick whichever box you think comes closest to the views of the Scottish 


			National Party.





�PRIVATE ���
Scotland�
�
1  A = a greater effort�
142�
�
2  B�
71�
�
3  C�
115�
�
4  D�
99�
�
5  E�
82�
�
6  F = (mid point)�
168�
�
7  G�
37�
�
8  H�
13�
�
9  I�
18�
�
10  J�
10�
�
11 K = less concerned�
11�
�
12  left of A�
-�
�
13  right of K�
-�
�
-2 skipped - no scales filled �
30�
�
98  don’t know�
83�
�
99  not answered/refused�
3�
�



Notes:  SO. 





�



European Union








q404	Please look at this page. Some people feel that Britain should do all it can to unite 	fully with the European Union. These people would put themselves in Box A.





	Other people feel that Britain should do all it can to protect its independence from the 	European Union. These people would put themselves in Box K.





	And other people have views somewhere in-between,along here [A-F] or along here [K-	F].





Note:  Q404-423 : SS








q413	RECInd	In the first row of boxes, please tick whichever box comes closest to your own 


			views about above issue.








�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = unite fully with EU�
252�
117�
138�
�
2  B�
128�
38�
39�
�
3  C�
196�
67�
52�
�
4  D�
184�
60�
31�
�
5  E�
138�
63�
34�
�
6  F = (mid point)�
429�
173�
138�
�
7  G�
95�
32�
16�
�
8  H�
155�
32�
24�
�
9  I�
168�
31�
27�
�
10  J�
139�
43�
24�
�
11 K = protect independence�
654�
156�
106�
�
12  left of A�
14�
1�
1�
�
13  right of K�
15�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
79�
36�
34�
�
99  not answered/refused�
-�
3�
1�
�



	


�



	


q415	ConECInd	Now where do you think that the political parties stand ?





	First the Conservative Party. In the next row of boxes, please tick whichever box you 	think comes closest to the views of the Conservative Party.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = unite fully with EU�
225�
87�
70�
�
2  B�
149�
39�
24�
�
3  C�
180�
50�
35�
�
4  D�
145�
51�
31�
�
5  E�
133�
42�
40�
�
6  F = (mid point)�
450�
154�
130�
�
7  G�
171�
51�
38�
�
8  H�
251�
67�
47�
�
9  I�
276�
92�
45�
�
10  J�
214�
39�
47�
�
11 K = protect independence�
315�
112�
109�
�
12  left of A�
14�
1�
1�
�
13  right of K�
12�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
111�
62�
47�
�
99  not answered/refused�
-�
5�
1�
�



q417	LabECInd	Now in the next row, please tick whichever box you think comes closest to the 


			views of  the Labour Party.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = unite fully with EU�
305�
102�
109�
�
2  B�
230�
76�
51�
�
3  C�
347�
107�
68�
�
4  D�
373�
107�
54�
�
5  E�
264�
82�
55�
�
6  F = (mid point)�
514�
172�
165�
�
7  G�
102�
25�
34�
�
8  H�
103�
33�
6�
�
9  I�
69�
27�
14�
�
10  J�
40�
10�
14�
�
11 K = protect independence�
146�
38�
38�
�
12  left of A�
20�
1�
2�
�
13  right of K�
7�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
126�
69�
54�
�
99  not answered/refused�
-�
3�
1�
�



�
	


	


q419	LDECInd	And now, please tick whichever box you think comes closest to the views of 


			the Liberal Democrats.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = unite fully  with EU�
248�
66�
77�
�
2  B�
198�
37�
32�
�
3  C�
253�
80�
43�
�
4  D�
298�
89�
52�
�
5  E�
273�
87�
48�
�
6  F = (mid point)�
759�
253�
226�
�
7  G�
90�
33�
29�
�
8  H�
93�
24�
14�
�
9  I�
60�
26�
9�
�
10  J�
28�
10�
8�
�
11 K = protect independence�
107�
36�
37�
�
12  left of A�
16�
-�
1�
�
13  right of K�
9�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
212�
108�
88�
�
99  not answered/refused�
2�
3�
1�
�



q421	SNPECInd	Now tick whichever box you think comes closest to the views of the Scottish 


			National Party.





�PRIVATE ���
Scotland�
�
1  A = unite fully with EU�
102�
�
2  B�
54�
�
3  C�
67�
�
4  D�
49�
�
5  E�
51�
�
6  F = (mid point)�
202�
�
7  G�
29�
�
8  H�
38�
�
9  I�
38�
�
10  J�
31�
�
11 K = protect independence�
84�
�
12  left of A�
-�
�
13  right of K�
-�
�
-2 skipped - no scales filled �
30�
�
98  don’t know�
104�
�
99  not answered/refused�
3�
�



Note:  SO


�



	


q423	CanECInd	Now please tick whichever box you think comes closest to the views of your 


			local Conservative candidate.








�PRIVATE ���
England and Wales�
Ethnic minorities�
�
1  A = unite fully with EU�
128�
47�
�
2  B�
95�
18�
�
3  C�
126�
25�
�
4  D�
103�
24�
�
5  E�
89�
21�
�
6  F = (mid point)�
717�
199�
�
7  G�
115�
22�
�
8  H�
126�
22�
�
9  I�
158�
28�
�
10  J�
127�
28�
�
11 K = protect independence�
225�
62�
�
12  left of A�
12�
1�
�
13  right of K�
11�
1�
�
-2 skipped - no scales filled �
87�
40�
�
98  don’t know�
612�
166�
�
99  not answered/refused�
2�
1�
�



Note:  E/WO





Women’s Rights





q424	Please look at this page.   Some people feel that women should have an equal role with men in running business, industry and government. These people would put themselves in Box A.





Other people feel that a woman's place is in the home.  These people would put themselves in Box K.





	And other people have views somewhere in-between, along here [A-F] or along here [K-	F].





Note:  Q424-441 : SS


�






q433	RWHom2	In the first row of boxes, please tick whichever box comes closest to your own 


			views about above issue.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = women equal role�
1648�
538�
427�
�
2  B�
267�
90�
70�
�
3  C�
204�
65�
32�
�
4  D�
91�
31�
17�
�
5  E�
56�
16�
9�
�
6  F = (mid point)�
187�
64�
59�
�
7  G�
27�
4�
7�
�
8  H�
23�
9�
6�
�
9  I�
12�
5�
3�
�
10  J�
26�
4�
2�
�
11 K = w’s place is in the home�
70�
18�
24�
�
12  left of A�
21�
1�
1�
�
13  right of K�
8�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
5�
4�
7�
�
99  not answered/refused�
1�
3�
1�
�



q435	ConWHom2	 Now where do you think that the political parties stand ?





	First the Conservative Party. In the next row of boxes, please tick whichever box you 	think comes closest to the views of the Conservative Party.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = women equal role�
494�
149�
159�
�
2  B�
234�
67�
64�
�
3  C�
339�
101�
72�
�
4  D�
295�
86�
58�
�
5  E�
199�
63�
35�
�
6  F = (mid point)�
412�
143�
110�
�
7  G�
118�
52�
34�
�
8  H�
167�
51�
35�
�
9  I�
123�
33�
18�
�
10  J�
50�
17�
14�
�
11 K = w’s place is in the home�
111�
53�
44�
�
12  left of A�
18�
-�
-�
�
13  right of K�
8�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
76�
34�
21�
�
99  not answered/refused�
2�
3�
1�
�



�



	


q437	LabWHom2	Now in the next row, please tick whichever box you think comes closest to the 


			views of  the Labour Party.








�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = women equal role�
1054�
325�
291�
�
2  B�
491�
151�
122�
�
3  C�
388�
118�
66�
�
4  D�
196�
76�
42�
�
5  E�
116�
30�
14�
�
6  F = (mid point)�
217�
86�
78�
�
7  G�
21�
9�
6�
�
8  H�
24�
9�
2�
�
9  I�
13�
4�
2�
�
10  J�
8�
-�
3�
�
11 K = w’s place is in the home�
29�
9�
17�
�
12  left of A�
22�
-�
-�
�
13  right of K�
7�
-�
-�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
59�
32�
21�
�
99  not answered/refused�
1�
3�
1�
�



q439	LDWHom2	And now, please tick whichever box you think comes closest to the views of #


			the Liberal Democrats.





�PRIVATE ���
England and Wales�
Scotland�
Ethnic minorities�
�
1  A = women equal role�
692�
187�
171�
�
2  B�
379�
94�
74�
�
3  C�
389�
154�
79�
�
4  D�
265�
77�
57�
�
5  E�
164�
54�
35�
�
6  F = (mid point)�
470�
155�
148�
�
7  G�
34�
19�
10�
�
8  H�
29�
14�
5�
�
9  I�
7�
11�
2�
�
10  J�
8�
2�
2�
�
11 K = w’s place is in the home�
28�
14�
14�
�
12  left of A�
20�
-�
-�
�
13  right of K�
7�
-�
2�
�
-2 skipped - no scales filled �
87�
30�
40�
�
98  don’t know�
150�
68�
65�
�
99  not answered/refused�
4�
3�
1�
�



�






q441	SNPWHom2	Now tick whichever box you think comes closest to the views of the Scottish 


			National Party.








�PRIVATE ���
Scotland�
�
1  A = women equal role�
213�
�
2  B�
95�
�
3  C�
124�
�
4  D�
59�
�
5  E�
61�
�
6  F = (mid point)�
166�
�
7  G�
16�
�
8  H�
18�
�
9  I�
7�
�
10  J�
-�
�
11 K =w's place is in the home�
11�
�
12  left of A�
-�
�
13  right of K�
-�
�
-2 skipped - no scales filled �
30�
�
98  don’t know�
79�
�
99  not answered/refused�
3�
�



Notes:  SO. 





�
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